| Fisich Wobemon — ASPAnG 024
, ?.103&%1, , M glet— et
- . ¢(4=T) = 04 T ltm 2 L’

) Aknwe= bplis = mt C.H: ) = o6t s C(4-T) = 71!,/1 L

:==b % = OCcfc-—-a %C,B'r Sk lx— Z,-rl
G : 5 , 1(_/1(,)55]1'

' [%-YX)= 5 (6T-32T) = s.ﬁ?;ph‘:zﬂ
/ R —

r\

z
i

mlu

H\Z

N]m |

_ota prmy ;. om h EYL T gzrabc al -M)p Propu é, .9__?

é=ﬂ><{>s31

C—ré'
P
q
? T
<
1y
\O

na

7
sl
Ay
=
)
P

clf C’.. iv

: ’L'z. Z 2 T 3
) E; =Ep= E+4E = SE }:» Ec _h‘- c" = GE) _QE) =mC

= A
F\ -~ P = E ‘l\.“E_k‘, o N
et R 46 ..w;zc,l

No TE QUEG&MO (—7!0 £
Bt O )so;h 2w fl,d’vfo

G=a =37 = =3 = nAa;:«atev/_;-_JM,s?e_,\/
frefn 2% Npsz S

= Efam- IAEJ_ 1,% cv < Lev = 4> = o w efmto \;.%e(pwm




